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QUESTION 1

Which transformations can be used in DQ for Excel?

A. Only mappings using a Case Converter and a Standardizer can be used on data in Excel.
B. Only mappings using non active transformations can be used in DQ for Excel.

C. All DQ transformations, including Matching and Consolidation can be used in DQ for Excel.
D. All DQ and Core Transformations can be used in DQ for Excel, there is no limitation.

Correct Answer: D

QUESTION 2

When changes are made to a mapplet in IDQ 9.1 that has been integrated into PowerCenter, howare those changes
propagated to the integrated mapplet?

A. Those changes are automatically propagated and managed through domain settings.
B. The user must manually re-export the IDQ mapplet to PowerCenter.

C. The IDQ versioning system automatically synchs with PowerCenter and updates themapplet to the most current
version.

D. None of the above.

Correct Answer: B

QUESTION 3

Which strategy pairs characters together as its match algorithm?
A. Edit Distance

B. Bigram

C. Hamming Distance

D. Jaro Distance

Correct Answer: C

QUESTION 4
When you select Suggestion List mode what statement is true?

A. The Address Validator transformation searches the address reference data and returns all addresses that are
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possible matches with the input address.

B. The Address Validator transformation searches the address reference data and returns the most likely candidate
address.

C. The Address Validator transformation parses data into the suggested address fields without performing validation.

D. The Address Validator transformation will return various cleansed standardized versions of the input record for the
user to choose from.

Correct Answer: A

Reference: https://community.informatica.com/mpresources/docs/Readme_2850.pdf

QUESTION 5

What Address Validator output field should you use to determine the quality of addressvalidated?
A. Locality / City

B. ElementinputStatus

C. Match Code

D. MSA

Correct Answer: A

QUESTION 6

Should data be standardized before it reaches the Address Validator?

A. Yes, street and directional abbreviations should always be expanded to their unabbreviated form.
B. No, any change may cause problems to the AV transformation.

C. Yes, if after review, specific problems have been identified that are causing address to not validate that otherwise
would.

D. Yes, they should all be upper case.

Correct Answer: A

QUESTION 7
How much data can DQA handle?
A. 2000 rows and 20 columns

B. Million rows and 100 columns
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C. There are no built-in restrictions. Large deployments will require more hardware and database tuning
D. Maximum 1 million rows and up to 10,000 columns

Correct Answer: B

QUESTION 8

Accelerators provide which of the following? Choose 4 answers
A. Rules

B. Reference tables

C. Demonstration mappings

D. Demonstration data objects

E. Profiles

Correct Answer. ACDE

QUESTION 9

With regard to a Basic Import which of the following is FALSE?

A. Once added, the target will display resolution for each folder imported.

B. A conflict resolution can be selected to apply to all imported objects.

C. Default is replace, options include rename or reuse.

D. The import can consist of an XML file and a Zip file containing the reference tables

Correct Answer: C

QUESTION 10

Which two are index key levels in Identity Matching? Choose 2 answers
A. Narrow

B. Limited

C. Typical

D. Extended

Correct Answer: AC
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QUESTION 11
What is the best approach to implementing Address Validation in version 9.17?
A. Run the addresses into the AV transformation without modification.

B. Take an iterative approach and review AV output. Determine why addresses did not validate and attempt to resolve
the issue prior to running them in the AV transformation.

C. Canada Post defines the SERP certification standard for software applications that validate Canadian addresses.
D. Remove all punctuation before sending the address to the AV transformation.

Correct Answer: C

QUESTION 12

What is required for customers to access and use IDQ Accelerator content?

A. Customers must license each Accelerator pack individually to download and use the content.
B. No additional steps are required. All Accelerator content is provided with the basic IDQ license.
C. IDQ customers simply need to request an IPS resource to download and install the content.

D. Accelerator content is available only with a PowerCenter license.

Correct Answer: B

QUESTION 13

Users would export DQ mappings to PowerCenter for which of the following reasons? Choose all that apply.
A. Performance

B. Scalability

C. Batch access

D. DQ as part of ETL process

Correct Answer: ABCD

QUESTION 14
Which is the best combination of functions to effectively implement a data quality project?
A. Company Executives and IT

B. IT and Business
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C. IT and Administration
D. Sales and Marketing
Correct Answer: A

Reference: http://www?2.sas.com/proceedings/sugi29/098-29.pdf

QUESTION 15

What transformation would you use to standardize data using a reference table?
A. Labeler

B. Decision

C. Standardizer

D. Parser

Correct Answer: D

Reference: https://communities.sas.com/docs/DOC-9873
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